Signature and Name of Invigilator

Roll No.
1. (Signature) (In figures as per admission card)
(Name)
Roll No.
2. (Signature) (In words)
(Name) Test Booklet No.
D—-0107 PAPER —1I1I
Time : 272 hours] ECONOMICS [Maximum Marks : 200

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 26

8.
9.

Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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PAPER — III
JY-UF — 111

This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - 1
Qug -1

Note : Answer the five questions from the para given below. Each answer
should not exceed 30 words. Each question carries five marks.
(5x5=25 marks)
T A fed T fede 3 ome R Rl Y e e S e ford | R IR (30)
YI=3] qeh BT T1TET | Yk U9 i 37eh] i € |

(5x5=25 3ieh)

Although Malthus was by no means the first writer to speculate on demographic
problems, he was the first to succeed in devising a theory of population growth. Ever
since, his views have been the point of departure in every discussion of population
problems. In his own day however, the theory attracted attention, not so much as a
scientific contribution to the study of demography, but as a refutation of the optimism
of Godwin, Condercet and Owen regarding the perfectibility of human society by means
of social legislation. More important for our purposes, Malthus’ theory had definite
analytical consequences that made it an integral part of classical economics long after
the “vision” that prompted Malthus had receded to the background. By emphasizing
the rigid dependence of population growth upon the food supply, the Malthusian theory
lent support to the subsistence theory of wages and prepared the way for the Ricardian
preoccupation with the land-using bias of economic progress; by explaining poverty in
terms of a simple race between population and the means of subsistence, it provided
the touchstone for all classical thinking about economic policy. Any one of these features
would have been enough to make its influence significant. Putting them all together,
they fully account for Malthus’ astonishing success which, indeed, has few parallels in

the history of social science.

Iy Aieed, fordl ot T8 9, SR FHestl & o) H S-S O 1 98al oi@s Tel o,
o1 SHEE g % fHgT< ol Thatdl-gesh |rd ferer | god o1 | de 9, 356 foram sHeen
st R s ==t ° foma @ ged & fag o 1 €1 forg, 3796 Tl #, 30 fagra 3 &=m

D —-0107 3 P.T.O.



MRt foran o, SO % AE | 3ad e AR AR % ®9 W e, W
TSI faem & HIem gR1 HIAe TSl i quitad] o S5 | Tiefad, hietde 3l oifed &
3TMTMETE & Gfdfersl & €9 H | TR 3299 & ford), ST Heeyui, Aeed & fagra & ffvea
forermees aftom 9, frem 38 semefiehet genifiHe o1 siqia fewen = foam | Areed = 3,
SEEAT g i TR Y T el (A W SR S, Feigd o fare s sl wwei foa,
3R enfifer wifa & yfn Swer qEie & @, el @ o & ol T Tur R fe;
TTEE iR fate & el & o9 W g & e § T 1 T e, 399 o Hifd
% AN H H FATEhe f=ReR & ford e UM | $TH | IS T A&, SHeh! Heweyul
S H HIE! BT, HaIeh! Tk |2 d gU, 3ol HIedd i STRFHSHh Hherdl Sl JoiEl T
foran, &1, H=m= |, SmTiSeh foM o sfie § &  "9qed faerm |

1.  Why did Malthus’ theory attract attention ?
Hieord & oG A e it 4 fonan?
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2.  Why did Malthus’ theory of population become an integral part of classical
economics ?

Yooy o1 SEE fag aordichel 19t ot 2179 317 91 & 71 ?

3.  How did Malthus’s theory lend support to the subsistence theory of wages ?
Hedd & fagr A fhe YR weigd o fams fagra o aqeq fean?

D -0107 5 P.T.O.



4. How did Malthus” theory influence the classical thinking about economic policy ?

ey & fagra 7 enféie ifa & I) U s 9= ol fovd yepr genfaa fowman?

5. In what important respects did Malthus’s theory influence Ricardo ?

fore HeayUl 319 H Heud & fagr 3 fenrei sl gwifad feran?

D -0107 6



SECTION - II
Lug —1I1

Note : This part has fifteen (15) definitional questions of (5) marks each to be
answered in upto (30) words.

(5x15=75 marks)
e =0 we H tgg vt (15) 99 ¥ | ek U9 % Ui (5) 3k ¥ 1 T Al

IW (30) vreal H S|
(5x15=75 31eR)

6. Define revealed preference axiom.

SeHTfed aRiadT e st Ry < |
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7.  What is elasticity of substitution of factors ?

IcqIe TIYHT o GIqETa i oire o1 & ?

8.  What is consumption ratchet ?

394 e w2
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9.  What is asset demand for money ?

g1 ot Te fedme F: 2

10. What is Harrod-neutral technical progress ?

e - () TS Teheiten! Wil 1 § 2
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11. Define organic composition of capital and its relation to rate of profit.

YSit =t BEINCARSRICE (organic composition of capital) s T SR A1 R Ik qEY
1 AT Y |

12. Distinguish between incidence and shifting of a tax.

T R 3R HT TIARO & o9 9 TIE 1 |

D -0107 10



13. What does current account deficit mean ?

= W | w1e BT 3 31 § 2

14. Distinguish between Statutory Liquidity Ratio (SLR) and Cash Reserve Ratio (CRR).
weged fafsafedt Wi (SLR) iR 9 e Wl (CRR) # 7R T & |
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15. What are the main features of the Industrial Licensing Policy of 1991 ?

1991 ! STeNfiTeR agaf~dm Hifa =t qe fasar @ g1

16. Distinguish between stable and stationary population.

feor 3ir wifqer (ot I Rydl) SHEE & s 3T oaqTd |

D -0107 12



17. Define Sen’s-P measure of poverty.

9 & 99 & P-9T9 hl TR & |

18. What are the measures of regional disparities in agriculture ?

Fi F & STaAmare % afwro F# § 2
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19. Distinguish between Open Model and Closed Models of Leontief Input-output analysis.
When do you say the system is viable in an Open Model ?

feretifew gAYe-3M=eye faveivur & oo Aied iR Folite Aieal & offd 3T TIL |
el e ¢ foh v Aieel | o =egd ¥ ?

20. A firm has the following total cost and demand functions C(x) =20+2x +3x% and
p=50—x. If an excise tax of Rs. t per unit is imposed, find the tax rate that would fetch
maximum tax revenue to the Government ?

T WH 1 Bl AT SR T He C(x) =20+ 2x + 322 3R p=50—x g1 AfE 9fd 31 T
t 1 SCUTE Y[Ch TR I §, <1 S ohi S o1 UaT TRIG ST TR 1 STFeehad ST AT < |
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Note :

SECTION - III
Qug —II1

This part has five short-essay type questions of (12) marks each to be
answered in upto (200) words. The candidate may select one elective

and answer all five (5) questions.
(12x5=60 marks)

T ESH U (5) oY s U ¥ 1 UE U & (12) 3 ¥ 1 yAh
T T ST ORI < 91 veal § ifete | qdemeft ot ek weifaea ® 9w
Tl T S |

(12x5=60 31eh)

Elective - I

faerea —1

21. Consider the following Regression Models.

D —-0107

(C/R/I)i =263.6416—0.0056 (PGNP),—2.2316(FLR);

se= (11.5932) (0.0019) (0.2099)
R%2=0.7077

(C/Rd)i =168.3067 —0.0055 (PGNP); —1.7680(FLR); +12.8686(TFR);

se = (32.8916) (0.0018) (0.2480) ?
R2=0.7474

(@) How would you interpret the coefficient of TFR ? A Priori, would you
expect a positive or negative relationship between CM and TFR ? Justify
your answer.

(b) Have the coefficients values of PGNP and FLR changed between the two
equations ? If so what may be the reasons for such a change ?

() How would you choose between Models 1 and 2 ? Which statistical test
would you use. Show the necessary calculations. Can you find the s.e. of
the coefficient of TFR.

CM: Child Mortality PGNP : Per Capita GNP

TFR :  Total Fertility Rate FLR : Female Literacy Rate
15 P.T.O.



22.

23.

24.

25.

fr=fafeaa gfemm diea ) fa=m = .

1. (C/R/I)i =263.6416 —0.0056 (PGNP),—2.2316(FLR),

se= (11.5932) (0.0019) (0.2099)
R2=0.7077

2. (C/R/[)i =168.3067 — 0.0055 (PGNP), —1.7680(FLR); +12.8686(TFR);

se = (32.8916) (0.0018) (0.2480) ?

R%=0.7474

(a) 9 TFR & TUlish 1 fohd YR fd=em 81?2 qead!, @1 39 CM 3R TFR &
S T A1 TR T4 whi ST4eT Hid €2 379 S i TR L |

(b) @ PGNP 3R FLR & T[T Hod QM1 FHIR0N § ot 191 & 2 afg THr & 1 9
REd % 1 R & Fhdl & ?

(c) 3T Hied 1 3R 2 & = Y F97 HAT? 3T HA | TSAHE THE0 h1 A
R ? AT TR ek TS@IT | 3T 319 TFR < T[0Tk o1 s.e. HIIH T Hehd
g2

CM: e g L PGNP : 9fd =afed GNP

TFR: FdTH I FLR : HfgeT Hardl ST

Explain the nature of Heteroscedasticity. What are its consequences. Explain Gold
Feld-Quarndt test for detecting heteroscedasticity.

Terifaed (faun famnferd) ot yehfa T =t | 3T 1 9fiom 8 €7 gelderaifaet
Tl A o ol Tiee Thee-ahie TXeT T9esd |

What is structural instability in a Regression Model ? How do you test it by using
DUMMY VARIABLES ?

AT AiSel H WA ATCR 11 hell € 2 319 38l SHI =R o ST g1 6 e
Syl

Discuss the situation of Multicollinearity in Regression Models and its consequences.
What are the Remedial measures.

ATHA HiSel H ageiy Trerei ohi fafa 3R 39 gRomi o1 foeem Y| U= 3™
q%?

Discuss the terms “SPURIOUS REGRESSION” and “COINTEGRATION”. Hence define
Dickey-Fullar test.

mfiara Forem " o TSI i e | o fehl-peer Y R Y |

OR / 319

D —-0107 16



21.

22.

23.

24.

25.

21.

22.

Elective - I1

fasmea—11

Explain the three forms of price leadership.

FIHd g o T ®9I I T B |

How do you convert a two-person-zero-sum game into a linear programming
problem ? Illustrate with example.

319 - AFF-F-A1T B I SR It wt wwen § FY ageil 2 3SR 57 Yeiid
Eadl

Explain the model of the interaction of the accelerator and multipler constructed by
Paul Samuelson.

Tiet Sgerad grI ffHd ©Rer 3R Uk & i SAdfshal & Hied 6l T & |

Explain how stability of equilibrium is attained in neo classical growth model.

-FATEIhe MY Hiee | T i Feerd fha YR I 2t &, 9z |

Explain the role of aggregate demand in the determination of income in the Keynesian
system.

R FEET YUt H 31 o Fior § §en | o6t yfHeh! ol T i |
OR / 3TeraT

Elective - III
faerea—111

Examine the operation of the present managed floating exchange rate system. What
are the problems with present exchange rate arrangements ?

A Faferd 1R fafTae <X yunett o swafafiEt s qden o | aqu fafae gt saeensti
& THET T |

Briefly outline the evolution of the present international trading system.

FAH HARLT AR JoIel! o faehrd st SI0ET Had § &dTt |

D —-0107 17 P.T.O.



23.

24.

25.

21.

22.

23.

What are foreign exchange markets ? What are its various forms ? What are the
different levels of participation in foreign exchange markets ?

foesft fafraa aoR =N €2 9% ®F 9 fafim wu €2 foaesh fafraa sl & gewfira & i
T FE?

Explain the difference between eurocurrencies and eurobonds.

Tl 3R U ey o fie TR T H |

What caused the international debt problem of the developing nations in the 1980s ?
Why did it threaten the stability of international banking system ?

1980 ¥ fosrmiRg@ <M 1 AT B THEAT HY S0 §& 2 9 i sTRig dfehm
aET o e o1 SAifeha fohan ?

OR / 319

Elective - IV

fasea—1v

Comment on the factors holding back the development of Indian agriculture in the
post-reforms era.

IR-GUR T H IRAT FH o fohrd i Tk aTel hehi 9 feoqort i |

How the entry of retail-chains would affect the price-spread between the farmer and
the urban consumer ?

ReaA-= 9 1 A ford TR TR STR SIedt Susiiert o o= shivd faedr I geiferd s ?

Describe the salient features of rural-urban migration in India and, in brief, spell out its
impact on rural labour markets.

IRA B UTHO-9188 Yo o TE fasrodieii 1 aui i 3iR, Hag H, It 91 Seiii W 396
1 I T |

D —-0107 18



24.

25.

21.

22.

23.

24.

25.

Evaluate the role of NABARD in monitoring the flow of credit to the agricultural sector
in India.

IRA H HfU & Sl R0 &% Yo ! AT & H NABARD ot YfHeht i1 Hoaishd i |

State the ‘Market access’ provisions under WTO agreement. How would these affect
the Indian agriculturists ?

forva SMIR GeA HEd % Sidrid ‘ Hiche TS Wifesia’ Jasd | fRd TR I8 YR Wdled
I JTferd i ?

OR / 3traT

Elective - V
fawca—-v

Describe the change in the role of Planning in India in the wake of economic policy
shift since 1991.

ARd ¥, 1991 9 31ffer i Termiawor & aRomaeerey, frsH =t ftet § aRads 1 9o |

Comment on the performance of the organized industrial sector in India in the past
two and a half decades, particularly with respect to employment generation.

fusat e <urenl #, wRa # wfed ofEifie & & foaes W fewmht &Y, fodm &9 & IR
oM o T H |

Outline the trends in social sector spending in India. How far it is right to say that
Government is abdicating its social responsibility in the new policy regime ?

IR § Hries &5 o H Yol %l S0 9dqrd | UH Fedl wal qe ai § R e Aifa %
MR | TR 379 G STEIoe hl 1 &l & ?

Is there a virtuous circle linking infrastructure development and growth ? Substantiate
your answer.

3k i foehra ik Hafg 1 Sied &1 911 Y[§ =k 82 377 3T ol JHIUIG Y |

Enlist the components of GEM. How does it vary with the movement of HDI ?
GEM % el ol FENTd i | I8 fohd YR HDI &1 91et o H1e SSerdl ¢ |

D —-0107 19 P.T.O.



D -0107

20



D -0107 21 P.T.O.



D -0107

22



D -0107 23 P.T.O.



D -0107

24



D -0107 25 P.T.O.



D -0107

26



D -0107 27 P.T.O.



D -0107

28



D -0107 29 P.T.O.



SECTION - IV
g ug—-1V

Note : This part has one question of (40) marks to be answered in upto 1000

26.

words.
(40x1=40 marks)

T W T THh Y =g (40) 37! ol g1 FSTHHh1 ST AT Teh &R
(1000) vr=gi H§ ST
(40x1=40 3h)

Outline the various dimensions of the growing environmental concerns.

How far the existing paradigm of development is responsible for the environmental
crisis, if any ?

What steps should be taken to salvage the situation ?
(10, 20, 10)

TATeR0] et aedt g3 fawiell o fafdsl STl i 9 3@ s |
Ffe g yaeRiid Hepe B, il faehrd 1 foamm g wel qe 39 fordl fmier &2
39 feufa 9 gfeq 9 & f3 91 svew 33T S =1l |
(10, 20, 10)
OR / 3terar

Comment on the empirical relation between the movement of real per capita income
and income inequality.

How far the inverted-U shaped curve hypothesis stands supported ?
In this context, how would you explain the ‘Augmented Kuznets’ curve ?

(15, 15, 10)
SrEdfaeh fd S T i YA AR T STHAM & ore STgHfosh grery W femof L)
321/ TTAIEE - U SR i deh 1 YNHeTAT 1 el dh 0 91 2|
39 Hed H, o1 fhg-yaR  stfmifee Fetieq’ o 1 T Hi?

(15, 15, 10)
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